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TI P Message Buffers

We have recently heard sonme groani ng about the size of the TIP s
message buffers. Wiile we realize these aren’'t as big as sone Hosts
nm ght desire, they aren't as small as the intensity of the groans
suggest either.

Let’s first consider nessages going froma TIP to anot her Host.
The buffers have the follow ng sizes:

devi ce nunbers buffer size (in 8 bit characters)
1-2 64
3-16 32
17-41 16
42-62 8
63 6

The TIP user has the option of having his nessages sent 1) every
character, 2) on line feeds and/or comis, 3) every nth character, or
4) the OR of 2) and 3). Selecting to have nessages sent every |arge
nunber of characters, say 100, will result in the TIP sending the

| ongest messages it can for a given device. Hosts which don't like to
recei ve very short nessages m ght advi se users accessing themfroma
TIP to set the TIP s paraneters to use the nmaxi mum | ength buffer

Now | et’ s consi der messages going from another Host to a TIP
The buffers have the follow ng sizes:

devi ce nunbers buffer size (in 8 bit characters)
1 96
2 64
3 48
4-17 24
18- 35 16
36- 63 8
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The TIP double buffers its term nal output. Thus, when a TIP term na
makes a connection to a Host, the TIP sends off an allocation of
between 8 and 96 characters, depending on the term nals devi ce nunber,
and when a nessage cones using up the allocation, the TIP i medi ately
sends another allocation for the sane nunber of characters while it
prints the first buffer.

For traffic both to and fromthe TIP, |ower nunbered devices have
bi gger buffers. Therefore, users of line oriented systens, as well as
users of higher speed devices, should try to come in through the | ower
nunmbered ports on the TIP's nulti-line controller, if possible.

The sizes of the TIP' s nmessage buffers and the nunber of each
size are not permanently fixed and can be changed if a better
distribution is suggested. W didn’t know what size buffers to
provide so we have provided a variety, Wat is fairly fixed is the
total anmount of buffer space: two output buffers and one input buffer
for each of 63 devices nust come out of this total buffer space.

The answer to your question "Way not dynamically allocate buffers
at run tinme?" is: It is a conplicated job to do that. It requires
menory conpactions, a mechanismto reclaimspace fromcurrent users
when a new user comes on, etc. Qur guess is that the code to
dynami cally allocate buffers at run tine would reduce the total space
avail abl e for buffers by about one-fifth.
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